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1.  Solve for x:
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2.  Solve for n:  
XY = 42
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3.  Solve for x:
C is the midpoint of 
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4. Solve for x:
KM = 35
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5.  Solve for x:
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6. Solve for n:
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27. Fill in the reason that justifies each step.

Given: C is the midpoint of AD.

Cis the midpoint of AD. a. _? A ¢ b
AC = CD b. 7
4x =2x + 12 e 7
=12 d.
x=6 e ?
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28. In the figure at the right, KM = 35. 7
a. Solve for x. Justify each step. K L M V4
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b. Find the length of KL.
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2.12 Reasoning in Algebra*® &

Solve for x.
In the figure at the right, m2GFI = 128.

BC bisects ZABD.
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29. In the figure at the right,mZ GFI = 128.
a. Solve for x. Justify each step.
b. Find m£ EFI.

30. Fill in the reason that justifies each step. i( X
£
-
BC bisects LABD. a7 A
m/ABC = m/CBD

6n+1=4n+ 19
2n =18

n=9
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2.12 Reasoning in Algebra*® &

Solve for x.
In the figure at the right, m2GFI = 128.

BC bisects ZABD.
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p91(1-24, 27-30)
Fill in the reason that justifies each step.
1. Solve for x.
m/CDE + m/EDF = 180 a. _? B
x + (3x +20) =180 b. ? ]
d4x +20 = 180 e ? Dk o
— 2 =
4x = 160 d 7 22
x =40 e 7 2im
B2 %
2. Solve for n. 3 . = Al
Given: XY = 42 ( % U
, ; X z ¥ TZn
XZ + ZY = XY a._? TEe
3(n+4)+3n=42 S ¢ iy
3n+ 12 + 3n = 42 Lo X
6n+ 12 =42
6n = 30
n=>3 f. 2
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Solve for x:


 


KM = 35
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Solve for x:
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Solve for n:
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